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QUESTION 1

Scenario: A Citrix Administrator has configured the NetScaler as a DNS Proxy Server. The administrator executed the
commands in the screenshot on the NetScaler using the command-line interface.

Click on the "Exhibit\\' button to view the screenshot of the command-line interface.

4 '_“-:E:'\T_RE g SE (true . FUE NOERRCR)

Pol 1 dns.REQ.TRANSPORT.EQ (udp)

> DNS -policyName Pol 1

What will be the effect of this configuration?

A. Set TC bit and rcode as NOERROR in the DNS Response from DNS server
B. Set TC bit and rcode as NOERROR in the DNS Request from Client

C. Create a DNS Response with TC bit set and rcode as NOERROR

D. Create a DNS Request with TC bit set and rcode as NOERROR

Correct Answer: D

QUESTION 2

View the Exhibit.

rewrite actiom Insert Cert j_r:ﬁﬁ];t_ntl_p_head-&r 35L parameter CLIENT.SSL.CLIENT CERT.SUBJECT
rewrite policy 1r-.sert_-::|3::l__;:-l-j-:5r true Insert Cert

d 1b wvserver lb vsrv www -policyName Insert cert policy -priority 100

a5l cartkey clientl
Btetus: Valid, Days to expirat

Signature Algori

I=zsuer: DCslab,DC=mylab,CHemylab-AD-C

Validity
Kot Before:

Public Key
0 Response

A Citrix Administrator has configured the commands using the command-line interface. Click on the "Exhibit\\' button to
view the screenshots of the command-line interface. What will be the effect of the rewrite policy, based on the exhibit?

A. HTTP Header "SSL_parameter: icauser@mylab.lab" will be inserted in every RESPONSE.
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B. HTTP Header "SSL_parameter: icauser@mylab.lab" will be inserted in every REQUEST.

C. HTTP Header "SSL_parameter: C=IN, ST=KA, O=Mylab, CN=icauser@mylab.lab" will be inserted in every
RESPONSE.

D. HTTP Header "SSL_parameter: C=IN, ST=KA, O=Mylab, CN=icauser@mylab.lab" will be inserted in every
REQUEST.

Correct Answer: D

QUESTION 3

Scenario: A Citrix Administrator currently manages a NetScaler environment in a retail company that is growing quickly
and may soon double its volume of business. Currently, a NetScaler MPX 5550, which handles web and SSL
transactions, is in place, but is close to full capacity. Due to the forecasted growth increase, the administrator needs to
find a cost-effective solution.

What can the administrator recommend to management in order to cost effectively handle the growth?

A. Perform license upgrade to NetScaler MPX 5650

B. Perform hardware upgrade to NetScaler SDX 14100

C. Perform hardware upgrade to NetScaler MPX 8005

D. Another MPX 5550 appliance

Correct Answer: A

QUESTION 4

Which NetScaler hardware or software platform offers a Multi-Tenant solution?
A. CPX

B. VPX

C. SDX

D. MPX

Correct Answer: B

QUESTION 5

Scenario: A Citrix Administrator needs to add 10 new web servers to an existing server farm. The new servers are
configured to serve the same applications and connections and are twice the capacity of the existing servers. The
administrator wants to ensure that they are being fully utilized. Currently in the environment, the default load-balancing
method is being used.
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To ensure that only the 10 new servers are receiving twice the connections of the old servers without changing the load
balancing to the rest of the environment, the administrator needs to add a weight of to the services
attached to the servers. (Choose the correct option to complete the sentence.)

A. 50; new
B. 50; old
C. 2; new
D. 2; old

Correct Answer: C
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